e £ 5 B= K& A K

s Faka) #1208 FEHHRAFTAS mEsls DMREBELERS
AR  ElETAERR
REEE B =5 FRE2846A12H TERER  mEmhRLBREBR
INEEDER
i | ke mE L BB | AR ; BB || RERE . BB | RAFE 2 B R || RERE . E B | RAFE 2 B R || R&RE L E B |p AR ; B &
i3 1 F i F i F i F i F i F i F
semioom | 1| AR (47 16.05 0.3 [EN K& 4] 16.35 +0.7[ @A ik 4| 16.41 0.3 Tk mE (4 1676 03[ [AR —0 [4] 17.43+0.7] JaEMs E 4] 17.44 +0.7] TRt X# [4] 17.47 03[ Ti&  mA [4] 17.55 0.3
AOTa=FRE BN A OT1=TREE BHIER BEHIER BAS21ZTNC BES1=FAC FRNER
se00m |1 |FE EBE [5] 14.30 +0.3] st M [5[ 14.59 +0.3] Jmnl B [5] 15.03 +0.3] [#&@ se¥ [5] 15.24 +0.9| [mk #x 5] 15.85 +0.9 [[/&*& & [5 1588 +0.9 [{BE f&# [5] 16.01 +0.3[ UM WH 5] 16.18 +0.9
B P ER R *25i| " [S<DT2AZTREL x24|  |[BEINER BE/IMER FR/NER BT 2=TAC BT 2=TAC SRIRAXCH F H
sei00m |1 T AE [6] 14.62 +1.2 [3m® @A [6] 14.62 +0.0[ [ @E |6 14.77 +0.0[ ,[EM &% [6] 15.08 +1.2[ [#i)l %86 6] 15.47 +1.2 [ @ [6 1549 +1.2| | FB [6] 15.49 +0.0[ [Tl e [ 6] 15.66 +0.0
FR/ER BE/IMER FRER BE/IMER FRER FRER FRER BE/IMER
1000m (|® —2E [5] 3:31.04 NEEIECES [5] 3:35.87 NS (5] 3:44.8 REEIREES 6] 3:45.41 5 [WUE W [5] 3:53.06 NI [5] 3:53.12 SR —v (4] 3:57.00 NG 6] 3:59.40
WIRAXCA £ AOTa=FRE BRT1I=FAC BIRAXCH E R HIRAXCA £ F BAREBIER BEIER WIRAXCA £ R
i 4x100m BENER SADOT2ZTHEL SRIRAXCH [ BEXT2=TFACA BAT1=FACB BAT21=FACC
yu—| |EE mm 6] 1:00.40 Ee —iA 4 1:04.26 Bl BBR | 6] 1:06.17 B2 B (5 1:06.40 R WE 5 1:08.49 mR B3 1122
T|®ft &KX |6 2|@A &K 4 3|8 EX |6 4MBEm EH |5 S5|fe& R |5 6|E #iE 4 7 8
IEfE & |6 ¥ OEXED |4 WE PH 5 AR EH |5 HH AR |5 B oEn 4
FI EEE 6 it kBB 5 % —2E |5 fBE EE |5 Al BA 5 i KE 4
- (|Ew mie 6] mes 0.8, [Fm EA [6 3w4 +0.5] |t AE [6] i3 +1.4] [ER #B (6] 371 +0.4] |t kB 5] 68 +0.4] [EB® A |6 3m68 +0.6[ [ —2H [5] 3n53 +0.3] [S# EA (5[ me9 +0.4
B ENER BE PR FR/INERR FHRINER R PEY4 13 FR/NER IRAXC E H FOER—1X
Srxyyy | ([BR B2 6] 4mbi NEERESIRED o |B3 BE [6 3ngs B B [5 3m2s S|l FE [6 3omes o|EB —E [4 2882 S|%B sx 4] 27mes o |BE Mk [5 24n56
R BENEAR BARED/NER FHRANEAR A ER R FOER—1X SDT2ZTHEL i/ NERR SDT2ZTHEL
sEl00m | 1R B [ 4] 16.05 +0.0 , [AW 2F 4] 16.34 -1.0]  |hE EE [ 4] 16.54 +0.0| , [FF »f& [4] 16.75 +0.0| [A& F& 4 17.22 +0.0| (|REVNS [4] 17.91 -1.0[  [B# #R 4] 18.40 -1.0] |5 DB [4] 18.53 0.0
BET21=FAC FRINERR IRAXC F H FR/INER N AR R PEY4 13 BT 21=FAC AMOP1=T7EE
sei00m |1 |TF XF [5 1469 +04 [ER % 5] 14.96 «0.9  [WLAHF |5 1537 +0.2[ |7 BF (5 1657 +0.9[ [ WA 5] 1578 +02 [EH# RE [5] 1500 «0.2[ [®he BR |5 1628 +1.1] [WHOYOD 5 1634 +0.4
RN x&#| " [BRTZTAC x4 (@A 21=TFAC R PEY4 13 B ERNPER SADT2ZTHEL Fim/ AR SADT2ZTHEL
6tioom | 1B EME (6 1433 w04l AN T8 [6 14.93 +0.4] =k 12 (6] 1504 40 4] [ET @ 6 1510 +0.3[ &% #8k [6 1512 00| [EF X 6] 1524 +0.0[ (|mE XM 6 1524 «0.4] [EE &KF 6] 1534 +0.4
BENER xa#| RN ADT21=TEL ADT21=TEL ADT21=TEL BAREDNER BAREDNPER BET21=TAC
1000m (|EE =@ 6] 33624 [ [=m (6] 3:36.69 | |iuAxmF [5] 34200 [, [B% wuE (4] 35003 | |@m%H @m 6] 35035 [ fwm mm 6 35158 [ [he E® [4] 35219 [ [EEFEE 6] 4:03.91
AEILAA -V DER BRIRAXCA BRIRAXCA BRS2=FNC #OBA—ILX i HIRAXCH £ R AEILAA -V DER
i 4100m SKOTa=FEEA BRTEAC WIRNERA FHOBA—ILX BES2I=TACA BHIFER HIRAXCO £ F WiRNFRB
yL—| |&& @ [6] 5839 B R 6 1:00.17 FA WE 6 1:01.89 mEC<n [6] 1:0318 " $%E 6 1:03.63 ENl M= 6 1:05.03 WwE MFE |6 1:05.66 Ik ETE [ 5] 1:06.61
&I #® 6 2|@ise EHR 6 3| FH 6 dlm BE 6 5/ILF ®F 6 6|tk FK |6 T|x & |6 8|Ak =H b
HE BE |6 hH BWAK 6 BE BE |6 R #F |6 *E SR |6 TH 5 |6 =5 wn |6 mE B 5
a# X6 Tk KW 6 B E%E 6 ik BE 6 Bl KT 6 B < |6 WARBEF 5 Rz BR 5
I JET #® 6] o7 +1.2[ [#4 B [6 3n59 +1.8][F % 5| 0 +0.0[,lLm mE 6] 3m32 +0.0[ [BE MBA |6 3n20 +0.4] [Ek EE |6 3n26 +0.5|  [EE mk |6 3m22 +0.7( [A A 6] 3n22 +1.2
AOTa=FRE ADTa=TRE BES1=FAC BIAXCA £ F FRNER BEHIER BAPEBIER WIRAXCA £ R
vrAyyy | [ER E 6] 43m30 ,[E# KE 6] 3774 S [MTPMEE (6 37md2 o |EB ®F [6] 3ms6 |RBE BR [5 20m08 NEER TN ;B == (5] 27m08 g|UT BE [6 26m83
R FHRNERR SDTAZTHEL 1BSPER/NERR 1BSPER /AR Sl /AR FOEH—ILX 1B BRI BX D 2 ZTAC




e £ 5 B= K& A K

s Faka) #1208 FEHHRAFTAS mEsls DMREBELERS
AR  ElETAERR
REEE B =5 TRE2856812H TERER  mEmhRLBREBR
HEEDE
mE (N RATR L BB |p RAFRE . BB |p RAFE . BB () RATE . R B |§ R&/HE . B R |p BATE L BB |p R4FE . B B || RAFE . B &
100m [ER wmE T2 1219 +0f fmm Al [3[ 12.24 +1.0] AR A& 3] 12.28 +1.0[ AR #m (2 1238 +1.0[ [BO H [3 12.30 +1.0[ [JEH w& [3] 12.50 +1.0 [EE s [2] 12.62 +1.0[ [WE #E&K [3] 12.70 +1.1
e HILRER HEPER BRPER HILRER EILFER e TohEFR
3000m | [BE_EF [3] 9:27.41 NEEEEES 3] 9:48.33 N ENEES [3] 9:54.65 J [ KH [2] 10:00.51 REZ PN [ 2] 10:09.53 G| PE__# [2] 10:17.14 7 [k 32 [3] 10:25.29 NEEES 2] 10:33.02
FehEFR e e e e D e e BHEFER
4%100m EITHPARA e 30) RS BAPERA iR FR PR TR A e
Ju—| |Es A8 3] 48.25 RE gt |2 48.74 &% —# [2] 5219 FE @ |2 5262 Wi fE [ 3] 53.62 me f0 |2 8379 fi|m m— [1| 53.83 #A BA [2] 55.08
5 1@EH 8% |3 2|8 A® |2 3|#A RE |1 41BR HE 2 5|EE Bk |3 6 | RARIGEHEL | 2 Tims & |3 8|HmE W |2
z B WE 3 BB HE 2 BE BA 2 mn E 2 i &=z 3 BE = |1 X ORE 2 a8 2
O =3 RE ®E 2 e KE 3 wr s+ 3 Wik F# 03 AR B3 BE EF 3 fBE —f 2
- (| 3] w4 0.0, [mH mA [3] 532 -0.4] |mAE ek [2] Sn23 +0.4 [EE mE (2] 6003 1.2 R F¥ 3] 4nog +0.6] [AR 78 |3 4mes 0.2 [EE —# [2] 4n66 -0.2[ [mENl & 2] 4m59 -1.5
TR LR WP WP WRRER FEPER WRRER BRPER
T ([EB =2 3] 1imei ,|E%® Rt [3 68 J|BE EE [2 62 J|EE BE [3 GnSS JBE BB [2 6nsS o|BE_®#E [1 6nl7 |ER #® (2] 512 ]
(5. 00kg) SHPER xzw| * |BRTER WRRER BRPER FRPER BRPER BRPER
srxyyy | |[EH 2 3] 36m66 , P8 @ 3] 28m24 o [FE s [ 2] 26n90 J|EE BE [3 23m8 S|E® Rt [3 1m29 g[E®R A [3] 17nd0 ] ]
A0— FHR PR ik Y o AR B B LR
100m (|LESEF 3] 13.40 +0.3[, [AREHAF |3 13.92 +0.3]  |Kitt 4R | 2] 14.08 +0.3]  [KF HE [3 1411 +0.3] | tiE [3] 14.15 +0.2[ 4% w2 14.15 +0.2] _|hE Zgs [3] 14.18 +0.3] M BB 1 14.25 +0.7
ThRER WRRER SIIRER SIRER TRER HIIRER BRPER BERER
1500m [k B 2] 45086 [ [mmxzEE [3] 5:00.24 | |mE sk [2] 5:08.66 [ [Esmm® 3] 51417 | [hs &% (2] 571860 [ [&aM @ [1 52709 [_[z# w [1] 54641 [ [E@ Ex 1] 54648
BARER ik i T AR T i AR FR PR B BARER
4 100m FhERA Wik FRD HILPFEB BRFFRA HEFPFER HiRPFR BHEFFER BRFFERD
YyL—| |BH#E tw |3 54. 63 BE OBE |2 55. 26 1 OEExE |2 55.51 Ltk Bk |3 56. 84 AR BR |1 57.21 WARFIMF |1 58.12 HERIERT |1 58.38 g mZxE 1| 1:00.51
= T|wESEF 3 2|B@ ®E 2 KIES R E ) 4|hE 2m 3 5[RFOES 3 6 |fEE MR 2 TH® ®H<Y |1 8|k FF |1
Z wi BE 3 BRHEFT 2 wE E; 2 B2 W@ 2 [1T]:: IS S WEBET |1 KB BFE |1
HAHEE 3 ASEHT 3 S M2 AR E 2 o mE 1 B HE 2 CE i S BE BE 1
- AR = (2] ans7 0.2, [ke 2@ 3] 4nsd +0.4] [EE BB [ 1 42 +0.0[ @t BE [3] w1 +0.5] [EZ Mm 2] 4n06 01| [KF ®E [3 404 +0.1] |KE BAF [ 1] 4n00 +0.0[  [taF JI 2] 3m98 +0.3
BRPER BRPER BHETER TehEF BRPER EILFER BRPER HILRER
TRl | [AEFESE 3] 1m0 , [ERSFIE [3 1m23 J|BE BE [2 s L |BE EE (3] Tnol [LE =R (2] g0 G|KE BB (2] Tndd ;|m® tm [3] ot NEEREZZEEC
(2. 721kg) HILRERK x5 " | BHRER *a|  [BRPER BRPER e BHEPER FehEFR HILRER
vrxyys | |LUESEF 3] 371 , |88 BEF [2 2713 S[KE BB (2] 25n04 ST mE [2 2056 S |BE &z [2 1om68 o|E® EX [3 16n07 S|Fe s® 2] 1457 o[ EEXE [2 13n58
AR— FohF BRPER BHETER BRPER EILRER BRPER EILRER HILRER




e £ 5 B= K& A K

s Faka) #1206 @EmmRAERSR mEsls DMREBELERS
AR  ElETAERR
REEE B =5 FRE2846A12H TERER  mEmhRLBREBR
—RRDER
ae (P EewE: =8 |PEewRE; B8R | AR BB || BEE . R B | KGR . E B || BERE . R B | KRR ;. E #® || RAHE . R 8
i % i % i 1% i % fir % it 1% it % i %
somsiioon| 1 B2t 200 12.16 +0.0f  [Hil s [20 12.20 +0.0[ , [EHEALS 20 12.70 +0.0[ , TM8E ¥a# 20 12.79 +0.0[ [[&# FA 20 12.86 +0.0[ (Jwwn-a-7wy-[20 12.93 +0.0[ [ J&K —§ [20] 13.69 +0.0
B Wi Bk Wi Bt HiK i
w0matoom| 1 PEE_FH (30[ 11.33 -0.4] [M& Fith (30 12.33 +0.0[ [E & [30 12.39 +0.0[ s % [30] 12.72 -0.4[ |=& fe— [30[ 13.06 +0.0] [ SR [30[ 13.45 +0.0] ,[EE i (30 13.49 0.4 [F m# [30[ 13.84 +0.0
B i xa%| @k Bt Bt i FHiK i Fi
o100 | 1[B8 FA [0 106 0. ] ] ] ] ] | ]
st 100m] 1 il; F# [50] 15.13 +0.2[ Ei =5 [50[ 15.84 +0.2] gg %X (50 28.63 +0.2 [ ] [ ] [ ] \ [ ]
7 34
PR N P %0 92675 [, R FURERSEN BE iR 20] 9:83.27 [ 1@ A& 20] 9:88.85 [, BR R 20] 10:02.58 [ A% BR [20] 10:19.95 BETIRE=S (20] 10:45.06 [ @3t #h#2 [20 10:53.68
Bk i i By i i Bk B
s t3000m| 1 gg A [40] 9:55.(;:M 5 i; | [40] 10:17.90 |, gﬁ E# 40 10:23.77 ] ] ] \ ]
7 2 r r
i 4x100m Wi
YL—| [IsE 41.29
1|l &t x&#| 2 3 4
BiE -
A FH
e K ;A [20] 5m77 +0.1], [EAEAES [200 5md5 -0.2[ , [IBE @ [20] 4m93 -0.9[  [ME Mt [20] 4n57 -0.1| [dei Bt [20) 3m99 0.3
S0 skimEES [ 1 e 2 e 3 Wiz 4 =5 5 wiig
somsrans | 1B Bz [30] Gn51 -0.5] ,[M& et 30[ 5md9 +0.0[ ,[RE m# [30 4n93 -0.6] [ R [30] 4n79 0.6[ [HE FA 40| 4n69 -0.2| |=mE fe— [30] 4ndg 0.3[ [#  w# [30] 4n35 +0.8] |#EEEEEI (0] 4n23 0.7
(S Bk ik Bk wik wik i Bk
we | | |BfF BE [20] 11n54 o[l s [200  ans3 o [HAE ® [20] 710 ] ] ] [ ]
(6. 00kg) ?‘Ej’t iﬂiﬂﬁ iﬁiﬂﬁ
wprmae | [B EZz [30 12n82 ,[FE F [300 12065 S|l EA [300 11m39 ,|mE %% [50 10m06 S[RE % [400 o6 ] [ [ ]
4. 00ke) =kl =kl Fi i ki
. MA 57y [20] 13.98 +0.3[  [BiE =# [20] 15.44 +0.3[  [#AF @ [20] 15.62 +0.3[ , [f0E KF |20 15.87 +0.3 ] ] \ ]
30K #100m [ 1 e 2 Ferm 3 P 4 ey
s e 100w | | | DEERT [50] 15,13 0.0, [l F& 40 15.91 +0.0] ,[FHF #F 40 16.06 0.0  [FHBEER 30| 16.42 +0.0| [AA HXE (30 16.80 +0.0 ] [ [ ]
s s s ki i
1500m NEERESS [20] 5:35.61 ) [WE BT [30] 5:53.29 NEESE [30] 6:04.32 REEEEES [30] 6:13.75 EIEES [20] 6:30.44 ] ‘ .
i *&#4| ~ [BF i ik i
% 4x100m pos)
E JL—| |fEB =¥ 58.76
1@ B 2 3 4
#Il ARk
SHXLF
I | |@H s T20] 4nt 0.3, [&E#* #6F [40] 6o +0.6| ,[#mn F& [40[ 3m68 +0.1| [®iE = [20] 3n44 03[ [HE % [30] 3l 0.2
i Witk itk ik Bt Bt
Tah ik (e 70 [30) 10m97 ,|EBEERE 30 8n69 o[BI #BsE [20 g6 J|UT ER (40 Tm22 [T [T [ [T
(2.721kg) FHiR 25|~ |BH Y ki
—pzxes [1[TEFET g 5 1o )Es 8 A& |3|Ew 0 oa |4|ERFEH 6 g




